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2 1,047,680 1,237,429 189,749
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Al 2,227,098 2,197,008 30,000
= 898,234 1,079, 195 £ 180,961
T WASS 243 493,825 579,775 85,950
Al 42,250 12,250 30,000
= 451,575 567,525 A 115,950
25T WA 29 462,025 577,975 A 115,950
Al 12,250 12,250 0
= 449,775 565,725 A 115,950
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01 AR 22/t 86,060 136,010 49,950
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ORaQHtZ2t B g (8Yd) 1,100 0 1,100
Al 1,100 0 1,100
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Al 1,200 0 1,200
03 AR R ETH| 1,200 0 1,200
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Al 1,200 0 1,200
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- 12,880 74,700 61,820
=L 29 26,975 88,795 261,820
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- 12,880 74,700 61,820
301 LetEN= 12,880 74,700 261,820
12J24 = 12,880 74,700 261,820
O2stdx BA+& 12,880 74,700 261,820
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2 21,453 21,453 0
Al 2,170,753 2,170,753 0
T 433,779 436,970 A3, 191
A 2tel 664,284 667,475 A3, 191
Al 403,697 403,697 0
- 260,587 263,778 A3, 191
301 LetEd = 16,550 19,741 A3, 191
0B MBI=RRAZAS 16,550 19,741 A3,191
OS2 RRAEY 16,550 19,741 A3,191
-Ss (803 Z8 334 12,170,000 12,170 14,604 N2,434
-S4l & 2,640,000& 2,640 3,168 528
- W SHl d3 1,144,000 1,144 1,373 A229
HY2IZH (S E28 3 ) 88,885 97,673 A 8,788
238l 54,408 63,196 A 8,788
Jl=3dHl 54,408 63,196 8,788
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02 324t 2,312 3,060 AT48
oRER= 2,312 3,060 AT48
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- S 33 767,000 767 1,278 A5
202 o4l 25,560 33,600 28,040
01 =L 25,560 33,600 A 8,040
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